EARAZROREIERT — 2 N—XBISY —F 2018F7RA7H (+) 2EI{EE3H

mﬂa%ﬂﬁgsﬁgi KBEF (GRS T8 (xwlm | memml - | oo mE
[A&4£)] 1 7% :7,800,000 @ 23 :3,100,000 @ 3 3 :2,000,000 @ 4 3 :1,200,000 @ 5 j&:780,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— . N . PAER .04, 43— . - KRS (X
107111 KSx7>a—K £ 6 3‘6_0 ks 3((31)2 4-4-3-1 | 13.4 1 (5:)26) J%ﬁ%%
v NyBHhT B:Ly RIL2N MEXZY K
# o5 | ERiHE 3:04.3 8-7-4-4 |13.4| — | 5 | 470 |EEEE (RH)
2|58 k=1 —F 6800 (3/4) 6) #8) £4h - TU—H—Z 124
R:N=YI54 B:RAT7IE-— RS
N i SAAREA . Q-7 — RBRFE (/)
3 5| Y=Vl Xz o7 s (701@:;1 8-9-7-4 | 13.4 10 &2) Eamm
L:aA>FaAy b BIHAFT 4 aNY BEZ %Y K
S S, o 46 | REEMS 3:04.8 7-8-8-7 | 13.4| — 2 468 | REAAMA ()
4 4| F-aARTTa > 60.0 @ 1/2) (ca) | KETTHE
R:T14—TZXh4 B:TLIvXx—I SZvae]
S S # 5 | MEFHEX 3:04.9 5-5-6-2 | 13.4| — 9 498 | A (EH)
s Y0l E¥VT59 2 [B] 60.0 (3/4) o) | BB
LY RKYIYRAIX BT I—2 BHREHM IXF477—LA
N . THE=S .05. _o_1— . — AEEEZ (ER)
6|1]1|@ts-n7s5 o g v Rl L Bl I B -4
L:d—h4 B:Ya—FT+>T> FH XF
s s 4 6 | BEE 3:06.2 11-11-10-10| 13.5 | — 4 400 | BKAEE (ER)
1 : FIREEISTE B 60.0 & iy | B ¥5TL k5T 5747
L:ZAFA4d—I K B:oz>TU— HBRHE
DA t> 5 | tEHEN 3:06.3 1-1-2-4 |13.5| — 8 488 | FHT (ER)
8 9 ®FA Y TEX - 60.0E~ (3/4) +2) ;)E/\*Tﬁﬁ
LN=VT7514 BRFETENL Y Y EStae]
- R o6 | HEMAME 3:06.5 10-10-9-9 | 13.6 | — 6 448 | ERB— (FER)
91813 Yv=—<>KRK—=-J 60.0 1172 (o |EHE
R:AN—3I>Th—4L B:¥~v=>Ivq SRS
LS > 5 | NLRE 3:08.8 3-3-4-7 [13.7| — 13 | 432 |BERME (E#)
EE 2 a>doglF g 60.0 (%241 #) (-6) EERER
Loy UAdyR B:a>dIr b BII77—L4
S : 47 | ATEEHR 3:10.0 5-6-11-11 | 13.8 | — 7 458 | EFEMH (EH)
11l5/7| A= F7+7—FK 60.0 ) 42 | W) B—F&-2557
L:xA1=gy7—2 By h—<L TATAT7—1L
g S 4 3 | LHA 3:11.4 11-12-12-12| 13.9 | — 11 492 | IR (EH)
Eﬂ 6| P4 —-—T L 58.0 @) (cay | 9 MEERF =T
LA agR—5— B:ASavT7sN Bl EE
N - ¢ EEFKRER 2. -13-13- . - =iEE (Em)
131814 @ TILXTIN Yy T 4 4 o 3 (142)1 13-13-13-13| 14.0 12 ;1;58) ;';:q-'?g
LI INATA—h— BiAASLY FER2 Y N
5 g # 3 | RHEEMH 3:13.3 14-14-14-14{ 14.1 | — 14 | 526 |REFFE—EE ()
1417112 Ja—h—T74IR 58.0 @ 46) TURH
R:xAIZT7—X BLF1—IF1RXb TR
@ 21 L
£y 52.9-39.1
ngraAq L
® I—F—@EBIERL
|S=7r= (¥9,1)-2,11(10,7)4(8,5)13-(6,3) -14=12
20—F— (¥9,1)-2,11-10,7,8,4-5,13,3-6,14=12
== 1-9,11(8,2)10-5-4-13-3,7=6,14=12
41—F— 11(1,10) (9,8,5)=(2,4)13,3=7=6=14=12
[ RN
B Op 1 420M 794K 8-11 810M & 5-7 1,370 &R 5-8-11 30,840/
7 B 1 180M 5-11 2,630M | | /5 = 8-11 2,230 | | 3EE 11-8-5 112,890M
8 310M 5-8 4,890 B H 11-8 3,840H
5 880H

ABICOVWTRDTEEERROODE. TR LIV,




